ResSenja prvog kolokvijuma iz Operativnih sistema 2
Novembar 2016.

1. (10 poena)
a(7) MP,LP,LP, MP, HP, MP, LP, MP, LP
b)) =4

2. (10 poena)

nmoni t or Conput er;
export witeX, witeY, read;

var
X, y : real;
readyFor X, readyForY, readyToRead : bool ean;
condX, condY, condRes : condition;

procedure witeX (real r);
begi n
if (not readyForX) then condX wait;
X:=r;
r eadyFor X: =f al se;
if (not readyForY) then
begi n
readyToRead: =t r ue;
condRes. si gnal ;
end;
end;

procedure writeY (real r);
begi n
if (not readyForY) then condY.wait;
y:=r;
r eadyFor Y: =f al se;
i f (not readyForX) then
begi n
readyToRead: =t r ue;
condRes. si gnal ;
end;
end;

function read () : real;
var tenp : real;
begin
if (not readyToRead) then condRes.wait;
t enp: =x+y;
r eadyToRead: =f al se;
readyFor X: =t r ue;
readyFor Y: =t r ue;
condX. si gnal ;
condY. si gnal ;
return tenp;
end;

begi n
readyFor X: =true; readyForY: =true; readyToRead: =fal se;
end;
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3. (10 poena)

public class Nalog {

private String tekuci Racun;

private String opis;

private Vrsta vrsta;

private doubl e sunm;

public enum Vrsta {UPLATA, | SPLATA}

public Nal og(String poruka) ({
String delovi[] = poruka.split("#");
tekuci Racun = del ovi[1];
opis = delovi[2];
vrsta = Vrsta.valueO (delovi[3]);
suna = Doubl e. par seDoubl e(del ovi[4]);

public Nal og(String tekuci Racun, String opis, Vrsta vrsta, double summ)

this.tekuci Racun = tekuci Racun;
this.opis = opis;

this.vrsta = vrsta;

this.suma = sunm;

}
public String uPoruku() {

return "#" + tekuci Racun + "#" + opis + "#"' + vrsta.toString() +
"HY 4 summ + CH

}
public String getTekuci Racun() ({
return tekuci Racun;

}
public String getOpis() {
return opis;

}
public Vrsta getVrsta() {
return vrsta;

publ i c doubl e get Suma() {
return suns;
}

}

public class Komuni kacija {
private Socket socket;
private PrintWiter izlaz;
private BufferedReader ul az;
publ i ¢ Komuni kaci j a( Socket socket) throws | OException {
this.socket = socket;
izlaz = new PrintWiter(socket.getCQutputStrean(), true);

ul az = new Buf f er edReader ( new
I nput St r eanReader (socket . getl nput Stream()));
}

public void posalji(String poruka) ({
i zl az. println(poruka);

}

public String prim () throws | COException {
String poruka = ul az. readLi ne();
return poruka;

}
public boolean kraj () {
return socket.isC osed();

public void zatvori() throws | CException {
izl az. cl ose();

ul az. cl ose();
socket . cl ose();

}

public class Server {

2/4



private static final int port = 6000;
private static final int granica = 6;
private String registarlp
private int registarPort;
private Map<String, Deque<Nal og>> nal ozi = new HashMap<>();
private Map<String, Doubl e> racuni = new HashMap<String, Doubl e>();
private class Nit extends Thread {

private Socket socket;

public Nit(Socket klijent) throws | OException {

this.socket = klijent;

}
public void run() {
try {
Konuni kacija klijent = new Konuni kaci j a(socket);
while (!klijent.kraj()) {
String poruka = klijent.prim();
if (poruka == null) {
br eak;

}

Nal og nal og = new Nal og( por uka);

if (nalog.getVrsta() == Nal og. Vrsta. UPLATA) {
upl at a( nal og) ;
klijent.posalji("ok");

} else {
Deque<Nal og> lista = dohvatil spl ate(nal og);
Kormuni kacija registar = new Komunikacija(new

Socket (regi starlp, registarPort));
registar.posalji(Ilnteger.toString(lista.size()));
for (Nalog n : lista) {
regi star. posal ji (nal og. uPoruku());
}

String rezultat = registar.prim();
if ("ok".equals(rezultat)) {
if (isplata(nalog)) {
klijent.posalji("ok");
} else {
klijent.posalji("not ok");

} else {
klijent.posalji("not ok");
}

registar. zatvori();

}

klijent.zatvori();
} catch (1 OException e) {
e.printStackTrace();
}

Systemout. println("finish");
}

private class Klijent extends Nit {
public Klijent(Socket klijent) throws | OException {
super (klijent);

}

private synchroni zed void upl at a(Nal og nal og) ({
doubl e suna = nal og. get Suma() ;
i f (racuni.contai nskey(nal og. get Tekuci Racun())) {
suna += racuni . get (nal og. get Tekuci Racun());
}

racuni . put (nal og. get Tekuci Racun(), sums);

}

private synchroni zed bool ean i spl ata(Nal og nal og) {
doubl e stanje = 0;
i f (racuni.contai nskey(nal og. get Tekuci Racun())) {
stanj e = racuni.get (nal og. get Tekuci Racun());

if (stanje < nalog.getSunma()) {
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return fal se;
}

racuni . put (nal og. get Tekuci Racun(), stanje -

nal og. get Suma());
return true;

}
private synchroni zed Deque<Nal og> dohvati | spl at e( Nal og nal og) {
i f (!nal ozi.containsKey(nal og. get Tekuci Racun())) {
nal ozi . put (nal og. get Tekuci Racun(), new Li nkedLi st <Nal og>());

}
Deque<Nal og> lista = nal ozi. get (nal og. get Tekuci Racun());
| i sta.addFirst(nal og);

while (lista.size() > granica + 1) {
lista.renovelLast();
}

return new Li nkedLi st <Nal og>(lista);

public Server(String registarlp, int

this.registarlp = registarlp;
this.registarPort = registarPort;
Server Socket server = new Server Socket (port);
while (true) {

Socket sock = server.accept();

Thread nit = new Nt (sock);

nit.start();

regi starPort) throws | OException {

}

public static void main(String args[]) throws | OException {
Server server = new Server("nbs.co.rs", 11111);
}
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